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A rectangular frame is 3 inches wider than it is tall. The area of the frame is 238 square
inches. If the frame is 2 inches thick all around, what is the area of the picture that fits
inside the frame?

height = h
I\ wWidth = W = h+5

A= 228
A:lnu)

. 2, 3h-238=0
o 238 h(hed) —> 228 h*Sh—= b~

L= -bx [Ptec a=\ =3 c=-23%

N

W
_ 2+ | = .22 )
o e czx A | hs ST ke
___/_,
y
he 14
e ] s G e
2.

A(é@ = 130 Ih




Two identical ladders are leaning against a wall. The base of the first ladder is 5Sm away
from the base of the wall. The base of the second ladder is 2m away from the base of the
wall, and it reaches 3m higher up the wall than the first ladder. How long are the ladders?
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Completing  4he  Squere
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